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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) In Section A — Questions no. 1 to 16 are Multiple Choice type questions. Each
question carries 1 mark.
(iv) In Section B - Questions no. 17 to 21 are Very Short Answer type questions.
Each question carries 2 marks.
(v)  In Section C — Questions no. 22 to 28 are Short Answer type questions. Each
question carries 3 marks.
(vi) In Section D - Questions no. 29 and 30 are case study based questions. Each
question carries 4 marks.
(vii) In Section E - Questions no. 31 to 33 are Long Answer type questions. Each
question carries 5 marks.
(viii) There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the Sections except Section A.
(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.
(x) Use of calculators is not allowed.
You may use the following values of physical constants wherever necessary :
c=3x108 m/s
h = 6-63 x 10734 Js
e=16x10"C
Ug = 4m X 107" Tm AL
gg =8-854 x 10712 C2 N1 m~2
L 9x10°Nm2C?
47e
0
Mass of electron (m,) = 9-1 x 10731 kg
Mass of neutron = 1-675 x 10727 kg
Mass of proton = 1-:673 X 1027 kg
Avogadro’s number = 6-023 x 1023 per gram mole
Boltzmann constant = 1-38 x 10723 JK~!
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1. forelt Tmr=r ufgemr @wenfer, fmeht ufgswreti & 9 wegaes K = 4 &1 &8
ey 7, <ht Giar C § | Ife 39 Ay 1 ger fear S, ot qenfer i e
g

A)  4C B) C
C
(C) y (D) 2C

2. Tl arae o o B W favyara Vv 8 soigeil & 19arg #i 9d vy ® |
Ife Vgt (%} gl ST, 1 A9ATE =T & ST

(A) %d B) vy
C) 2vy D) 4vy

3. I3 Tk U, TRt gk & St 35k adl o Sfieead 7, H fa 7 |

M@ H TN AR Jraehid & 1 fmmor o & oy fowor et 7 | Afe

T O0<t<T, T<t<2T 3N 2T <t < 3T W UG f0.a1. 9 (emf) &+
RHTOT SHHTT: 81,823ﬁ183§,?ﬁ:

Ba

>t
0 T 2T 3T
(A) €, > €y > Eq (B) €y > €q > €,
(C) €q > € > €, (D) €, > €4 > €,

4. 10 cm B i *IE FABR FUeel! Tordll Frahia &= B =(10] +05;)mT
H 39 YR Wl 7 foh FUSHT % I3 o U ST hl A Tehieh GG I

A A o . ~
AH (061 +0-8 j) 8 | HUSAH! § Helg Fraehd T @ :

(A)  0-314 pWh (B) 314 uWb
(C) 314 uWb (D) 1256 pWh
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SECTION A

1. The capacitance of a parallel plate capacitor having a medium of
dielectric constant K = 4 in between the plates is C. If this medium is
removed, then the capacitance of the capacitor becomes :

(A) 4C B C
© D) 2
2. Electrons drift with speed vq in a conductor with potential difference V

across its ends. If V is reduced to (%) , their drift speed will become :

(A) %d B) vq
C)  2vy D) 4wy
3. A conducting loop is placed in a magnetic field, normal to its plane. The

magnitude of the magnetic field varies with time as shown in the figure.

If &1, &5 and €5 are magnitudes of induced emfs during periods 0 <t < T,
T<t<2T and 2T <t < 3T, then :
B

>t
0 T 2T 3T
(A) & >g5>¢8q (B)  gy>eg>¢8
(C)  eg>g;>¢ (D) g >e3>¢,
4., A circular coil of radius 10 cm is placed in a magnetic field

N A A

B =(1:0 1 + 05 j) mT such that the outward unit vector normal to the
A A

surface of the coil is (0:6 1 + 0-8 j). The magnetic flux linked with the

coil is :
(A) 0314 Wb (B) 3:14 uyWb
(C) 314 uWb (D) 1-256 uWb
12-55/2/2 5 P.T.O.
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5. fmafafes & @ sA-H ufy/olmr fedft smest oawitt 6 mafis 3k

fedioreh puelcr™i § ¥0H &l 8/% ?

forga am, dicedn, W, Jrachid T

(A) had faga gm
(B) <hdd dicedl
(C) hdd W

(D) FrehT Forad 3R WRh gl

6. 5 LCR (L =2 mH, C = 0-2 uF @1 R = 30 Q) %0 4iuy giEd! mahi
foRelt ac |d ¥ TAINA g | TohE g o fou 38 afwy 1 gldeman =Ead
gt ?

5 5

@& ®
47t 27t
4 4

© o 1 g,
4r 21

7.  dfceT o dc ARk ORI = H1 =SH AT @I T8 & 99H 3 Al i
afeen 6 i @ 3Icqw faferen & s=ma & fow ®r= 6 fagh adt g 1 3
fafertol Bret 2
(A)  X-foptol (B) WIS feptol
(C)  3AaTh qTi (D) T et

8. Torel yrmI-guEl I58 1 HRI-BAA 2:00 eV & | 300 nm TG & fafotor
g1 56 © IcHioid Soidreiql hl AT TS il &
(A) 054eV (B) 1-07 eV
(C) 1-61 eV (D) 2-14eV

9.  Torelt T % Sl W A, B 3R C 1 % ¢d g¢ "HI 319 Ep < Ep < Eg
% TEI®Y & | O Wi TshAY C 8 B, BY AT CE A o qcged fafehtun o
TG HHIM: Ay, Ag IR Ag B | T Aq, Ao AR A3 o o9 T T99 8 :

1 1 1
(A) x1+x2:x3 B) — +—=_—

Xl x2 X3
(C) }L1+}L2+}M3=0 (D) 7\,1+}\,2=}\,3
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5. Which of the following quantity/quantities remains same in primary and
secondary coils of an ideal transformer ?

Current, Voltage, Power, Magnetic flux
(A)  Current only

(B)  Voltage only

(C)  Power only

(D)  Magnetic flux and Power both

6. A series LCR circuit (L = 2 mH, C = 0-2 uF and R = 30 Q) is connected to
an ac source of variable frequency. The impedance of this circuit will be
minimum at a frequency of :

5 5
@ 2 ®
4n 2n
4 4
© 2L m o
4n 2n
7. Welders wear special glass goggles or face masks with glass windows to

protect their eyes from radiations produced by welding arcs. These
radiations are :

(A) X-rays (B)  Ultraviolet rays
(C) Infrared waves (D) Gamma rays
8. A photosensitive surface has a work function of 2:00 eV. The maximum

kinetic energy of electrons ejected from this surface by radiation of
wavelength 300 nm is :

(A) 054eV (B) 1-07eV
(C) 1-61eV (D) 2:14eV
9. Energy levels A, B and C of an atom correspond to increasing values of

energy i.e. Epo < Eg < Ec. Let A, A9 and A3 be the wavelengths of
radiation corresponding to the transitions C to B, B to A and C to A,
respectively. The correct relation between A1, A9 and Ag is :

2 2 2 1 1 1
(A) A+ Xy = A5 B) —— 4+ —=_—
Kl xZ K3
(C) }L1+}L2+}M3=0 (D) 7\,1+}\,2=}\,3
12-55/2/2 7 P.T.O.
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10. TER-ATEET & fordl T § hig Ucthl U1 forEt Meg AT 9T Tfast et Kd
S AT & | g ATk 8 forel gft d W &firek w2 R stoll femm

IR Rt oidT & | a9 d foreeh STIshATITd B 2

B) JK

(A)

gl

(©) (D) K

11. Tl A9 Si vl forgeh a1y A1fed @ W n-ThR T A=Ak Si 919 31 @ 2
(A) Al (B) B
C) P (D) In

12. 9 fopell p-n TfY SRS 1 yvalefire aEfba fomn S B, a9
(A Uferwr 1 S48 Tt B qe g & i <SE F9¢ Sl @ |
(B) Uferept it Sams sgcht @ qen g & i =S a9 I 7 |
(€) Ufyepr 1 S=TE Tedt 8 a1 gt &= 61 AreE fUps It 7 |
(D) Ufyepr A S=mE aedt B aon g & i e g S B |

Yo7 §&7 13 & 16 37194%7 (A) 3R FRY (R) YR & F77 & | § %97 17T TT & —
o T @ STHIT (A) 9T G H1 BRI (R) GRT 3bd 147 71 8 | §81 I 14
g 71 F1s1 (A), (B), (C) 311 (D) 7 & F7o¢ G7q 1

(A) INHAT (A) R HRO (R) THT T&1 & 3R HROT (R), TR (A)
Hg! SITEAT HLAT § |

(B) fished (A) 3R SR (R) g1 T &, Weg HRUT (R), AMheq (A) Hi
& AT 7T S § |

(C)  3MheE (A) HEI &, Tg R (R) Tad 7 |
(D) IAHIT (A) TAd g 9T HRT (R) Ht Td 3 |

13. 37T (A) : Toret weh gemesft i strae amdn omensh gl 7 |

FRU(R):  Tovra o ger Afaw gfafers dHar s4a1 8 |
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10. An alpha particle approaches a gold nucleus in Geiger-Marsden
experiment with kinetic energy K. It momentarily stops at a distance d
from the nucleus and reverses its direction. Then d is proportional to :

(A) B) K

gl

(C) (D) K

11. An n-type semiconducting Si is obtained by doping intrinsic Si with :
(A) Al (B) B
C) P (D) In

12. When a p-n junction diode is subjected to reverse biasing :
(A)  the barrier height decreases and the depletion region widens.
(B)  the barrier height increases and the depletion region widens.
(C)  the barrier height decreases and the depletion region shrinks.

(D)  the barrier height increases and the depletion region shrinks.

Questions number 13 to 16 are Assertion (A) and Reason (R) type questions. Two
statements are given — one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false and Reason (R) is also false.

13. Assertion (A) : The magnifying power of a compound microscope is

negative.

Reason (R):  The final image formed is erect with respect to the object.

12-55/2/2 9 P.T.O.
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14.  3UHYT (A) : B3 S AN HIS WA THE T p o Fret Fraehia &
Bl R uvs@i® 7 L B 2 | a9 3 241 @an
fISaT o JTehR 99 T T L @ |

FRU(R): JeEE &% B # T B0 9 goANH m SR oW q ¥

TSI VT % JARR 9 h1 s, r=% SR TR ST 7 |

15. 3B I7(A) : o &1 FFm ot aeeqor f=m o1 &) ueh fwhy 2 |
FRU(R):  Torelt 37rest Wk § wifr & =8 a1 @ |

16. 374HIT (A) : Auiaa fafrwon &1 § i o ok @@ fawe & fo
TehI-fagd 9 % AW W 3Hfda fafeRtmn i digdr § Jhg <k
1Y g Bl 2 |

HRU(R):  IAida faferwun i diaar # Jhg o Haeasd Yfd THIS Icarid
g4 Tl JehTTTeh-Saiae il st T § gig &l 8 o 39 YR
yehI-faga ar | ghg &1 ST g |

Qs @

17. (%) “foreht fou U =mass O ¥ UERR afer & grstt & foe soieeia
HYETE AT haed $© mm/s & Bl 2 |7 T aREY s T W e &l
3T U1 9T fohd JehR TATYA &1 STt g 2 SATEAT <hitg |

(@) ‘V=IR3NH & W &1 $I5 %I 2’ I8 & 78 7 | A il | 2
18. TorHl 3IT@ o8 (n = 1-52) 1 91 H BIHH gl 150 cm B | TaHH 1-65
29 H oM W 38 ¥ ol BipE gl ATd I | o 1 Tepld Fam gl ? 2

19. (%) T FAEEg YHN Hal ¥ e arelt a@, Sd g &1 mm
‘@ qAT MM ‘o’ ], Tohet formg W oreamiowr et € | Afe 39 g1 awtt &
T AR ¢ 8, A 39 forg W aRumf digar & g Aok ogeds
HifT | 2
HAUAT
(@) I fgferl v o safdeor Yo W w=n g9e g 99 () a3l S
o o < ke @ WY, 3R (i) TAREt < = gererd ® gl
ST ? 3799 IR i e Hi | 2
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14. Assertion (A) : An electron and a proton enter with the same momentum
- -
5) in a magnetic field B such that 3 1 B. Then both

describe a circular path of the same radius.

Reason (R): The radius of the circular path described by the charged
particle (charge q, mass m) moving in the magnetic field

9
B is given by r = mv,
qB
15. Assertion (A) : Lenz’s law is a consequence of the law of conservation of
energy.
Reason (R): There is no power loss in an ideal inductor.

16. Assertion (A) : Photoelectric current increases with an increase in
intensity of incident radiation, for a given frequency of
incident radiation and the accelerating potential.

Reason (R): Increase in the intensity of incident radiation results in
an increase in the number of photoelectrons emitted per
second and hence an increase in the photocurrent.

SECTION B

17. (a) “The electron drift speed is only a few mm/s for currents in the
range of a few amperes for a given conductor.” How then is current
established almost the instant a circuit is closed ? Explain.

(b)  ‘V=1IRis a statement of Ohm’s Law’ is not true. Explain. 2

18. A convex lens (n = 1:52) has a focal length of 15:0 cm in air. Find its focal
length when it is immersed in liquid of refractive index 1-:65. What will be
the nature of the lens ? 2

19. (a) Two waves, each of amplitude ‘a’ and frequency ‘@’ emanating from
two coherent sources of light superpose at a point. If the phase
difference between the two waves is ¢, obtain an expression for the
resultant intensity at that point. 2

OR

(b)  What is the effect on the interference pattern in Young’s double-slit
experiment when (i) the source slit is moved closer to the plane of
the slits, and (ii) the separation between the two slits is increased ?
Justify your answers. 2

12-55/2/2 11 P.T.O.
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20. fmfcfea mfvehr srfufshen & s /srasnifva et aftesfera shifT 2
12 12 20 4
6C + 6C —> 1oNe + ,He
feem 1 21 m(12¢) = 12000000
20
m(m Ne) = 19-992439 u
4
m(2He) = 4-002603 u

1u =931 MeV/c2

21. el A9 e & ol I=aUS H T YHTE AR BT 3 9 39 Iqtuia
o ST B ¢ (%) Bt stugew o Wiy, 3R (W) YRSl 31ged o A1y ?
ek fefa ® o9 ST 1 gfee il | 2

Qug 1

22. (%) Tl Mrew # Torqa-rerehia O i ATel fohd Sl X R it B 2

N o

(@) oI5 fogga-grashia T fh8 SRR Icu= <hi ST @ 2

() 2-37F % AW TR0 HAl TRE fIgd-grachia a0 1 FAEAT MG
foga iR grehi &= &l M i g Ei | 3

23. ARG H A ey il o @iy faga giuy g T 7 | $Eeh! @Rl AG,

BF iR CD # fergga st o uftamor ain fesmd sma i | 3

A 24 B 20 &

6V +_—__— %QQ
—VWW
D
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20. Calculate the energy released/absorbed in the following nuclear reaction : 2
¢+ 20 — TiNe + jHe
Given : m('2C) = 12:000000 u
m (2 Ne ) = 19992439 u
m (%He) = 4002603 u
1 u =931 MeV/c?

21. How does the energy gap of an intrinsic semiconductor effectively change
when doped with a (a) trivalent impurity, and (b) pentavalent impurity ?

Justify your answer in each case. 2

SECTION C
22. (a) On what factors does the speed of an electromagnetic wave in a
medium depend ?
(b)  How is an electromagnetic wave produced ?
(c) Sketch a schematic diagram depicting the electric and magnetic

fields for an electromagnetic wave propagating along z-axis. 3

23. The figure shows a circuit with three ideal batteries. Find the magnitude

and direction of currents in the branches AG, BF and CD. 3
A 20 B 20 e
1+ 6V
3V 20 -
6V +_—__— % 2Q
—WW

G 20 F D

12-55/2/2 13 P.T.O.
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24, M@ T TAW AR 10 cm x 20 cm AT T hI3 FARAR IS THEHH
I & | B | = 5 mT % T3¥ % STel W1 & | 39 O B 5 cm/s F AT
g dh TG HUS ST 8 S dh b I8 qUia: Frahi &9 U STEL TRl T

STl |
—>
B
X X X X
M 20 cm N
X X X X
-
10 cm >
P O X X X X
|
' X 5 X X
: I I
| | |
I I I
gt I L— > x
0 20 cm 80 cm

(%) x(0<x <100 cm) % Y FrIhT FAFH ¢ o =m0 Sl M & oW
% S |

(@) 9T Hag Frachid Foad i ATUehad HH F1d i |

() 39 9T I FEIhHT &F T FlhL T U o fore w1 fopeft sImer &l
TRl B 2 3

25. (%) < o HY gHR =TTt | foadia fomett & wmft ard yenfga & @
& | 31 gFI ATt o e TN 9 Sl Yepfd <l SAmE Shifsw | g
FTeTeh! o S 9 o YRATI & foU =ieh I8 ShifsT 3R 39 91 Th
vfrer <t gitam i | 3

AAAT

(@) Torelt ThEmH ek & B i o fedt uwed o w wEw
W-W?%%ﬁmmﬁﬁﬁlamq%aﬁeﬂﬁéﬁ%ﬁl 3
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24. A rectangular loop of sides 10 cm x 20 cm is kept outside a region of

%
uniform magnetic field | B| =5 mT as shown in the figure. The loop is

moved with the velocity of 5 cm/s till it goes completely out of the

magnetic field.

—>
B
X X X X
M 20 cm N
X X X X
-
10 cm >
P O X X X X
|
' X 5 X X
: I I
| | |
I I I
gt I L— > x
0 20 cm 80 cm

(a)

(b)
(c)

25. (a)

(b)

12-55/2/2

Plot a graph showing variation of the magnetic flux ¢ with
x (0 <x <100 cm).

Find the maximum value of magnetic flux linked with the loop.

Will an external work be required to be done to move the loop

through the magnetic field ?

Two long, straight, parallel conductors carry steady currents in
opposite directions. Explain the nature of the force of interaction
between them. Obtain an expression for the magnitude of the force

between the two conductors. Hence define one ampere.
OR

Obtain an expression for the torque 1 acting on a current carrying

%
loop in a uniform magnetic field B. Draw the necessary diagram.

15 P.T.O.
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26. (%) T I T TP & [T ¢ St TRl hl H&T H SATEAT HIWT |
(@) forelt Uiefq 3t forell Towr o1 @ deg ¢ St qUIced &l 34| d

HifvT &
() TFi ol w9 favarar gra fom & i fomam mam 7, qen
(i)  TEl THE TS Sl d T & | 3
27. (%) Torel Ty d fFasaqi & 1 il Fafas St ol 3Tk JUaFRT &
HeH o &9 H b Hd gL U T |
(@) 3T 9 ! YT &l AR o (i) 3TeRdf, dur (i) Sfaedt B |
I IR i gfee HifT | 3
28. UNUY ARG HI HEEATl & et p-n TY SIS I g T et o €9 H
Frifafe 6 smen Fifve | gge ot ok ffa atreg oft it | 3

@Wue g
THI0T I TATRA I

97 GEIT 29 TIT 30 JHTT ST TIIRT F97 & | Heieiiaq s/7=aq] #1 7¢ &< 157 T

y99] & I AT /

29. 9 i3 YN hl fortor Tum uream ¥ fole #@iegd | H=R0T it 8, i 9%
AU ¥ P S Il 8 | S AA B0 H ghg A @, dl udfdd R
e | 3R AT Gl Sl 8 | 9o H1egy o fopelt fomiy ST19a <hivr <h
fau safda formr gHl Aeami & TaUgse Wi Sih-dleh TSl Ll B | 39
3T 10T 1 BETTd ATEaml o et (SS) o foIQ shifcreh <hivT %ad & |

(i)  Shifdeh IV W AT i ITcA] foror o 0 qUadd I KT AF BT 8 ¢ 1
(A 0° B) <90°
(C) >90° (D) 90°

(i) < (nzgj H T LAl B3 600 nm AUIC T Tehrel fhtol Ja-a1g

FTTYSS TX STk hivl H A HIV W ATIH HLdl 8 | TTadd T |

Hag dUuled 3 : 1
(A) 400 nm (B) 450 nm
(C) 600 nm (D) 800 nm
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26. (a)
(b)

27. (a)

(b)

Briefly explain de Broglie hypothesis for wave nature of matter.

Find the ratio of de Broglie wavelength associated with a proton
and an alpha particle when both are

(1) accelerated from rest through the same potential difference,
and
(ii1)  moving with the same kinetic energy. 3

Plot a graph depicting potential energy of a pair of nucleons in a
nucleus as a function of their separation.

Identify the regions where the nuclear force is (i) attractive, and
(ii) repulsive. Justify your answer. 3

28. With the help of a circuit diagram, explain the working of a p-n junction

diode as a full wave rectifier. Draw its input and output waveforms. 3

SECTION D
Case Study Based Questions

Questions number 29 and 30 are case study based questions. Read the following
paragraphs and answer the questions that follow.

29. When a ray of light propagates from a denser medium to a rarer medium,
it bends away from the normal. When the incident angle is increased, the
refracted ray deviates more from the normal. For a particular angle of
incidence in the denser medium, the refracted ray just grazes the
interface of the two surfaces. This angle of incidence is called the critical
angle for the pair of media involved.

1)

(i1)

12-55/2/2

For a ray incident at the critical angle, the angle of reflection is : 1
(A 0° (B) <90°
C) >90° (D) 90°

A ray of light of wavelength 600 nm is incident in water (nzgj on

the water-air interface at an angle less than the critical angle. The

wavelength associated with the refracted ray is : 1
(A) 400 nm (B) 450 nm
(C) 600 nm (D) 800 nm

17 P.T.O.
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(iii)

(iv)

12-55/2/2

(%) @ # T WI=Imi A 3R B % &9 3AIISS AB i G T
2 | g9 HIeIq A H, Afad et PQ &fast & 30° T hivr =T
g | Jualkid foRor SFIgsS o TR & | HIEIH A % 9y

HIETH B 1 37994 @ : 1
B
A . Q| > B
30 A
P
NE) V5
(A) 5 (B) 5
4 2
0 = D) =
©) NG (D) 3
TUT

(@) @ AreAd A R B forsll dwaw €\ gRT gufeRd @ | A 3R B
HIEIH § JohTST shl I A 2 x 108 ms~1 31 2:5 x 108 ms~!
2| HISIH A 9 H1EIH B H THT oA ITedl TR ki foRr o T

Shifdeh I 3 1
-1 1 -1 2
(A) sin 5 (B) sin -
(C) sin™! % (D) sin™} %
IR@ # fopelt ISR 5| & T ! fopefl wehtar hi fohtor 1 9y
TIMAT =T 3 | 39 U1 | I 0 1 A @ : 1
/8\
TN .
7\\ n \
N\
(A) sin~! nZ_1 (B) sinl(nZ2-1)
(C) sin~1 1 (D) sin~! 21
n?_-1 (n“-1)
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(iii) (a) The interface AB between the two media A and B is shown
in the figure. In the denser medium A, the incident ray PQ
makes an angle of 30° with the horizontal. The refracted ray
is parallel to the interface. The refractive index of medium B

w.r.t. medium A is : 1
A Q| ® > B
30° A
P
(A) ? (B) g
© = o =

NE] NE]

OR
(b) Two media A and B are separated by a plane boundary. The

speed of light in medium A and B is 2 x 108 ms1 and
2:5 x 108 ms™1 respectively. The critical angle for a ray of

light going from medium A to medium B is : 1
(A) sin™l 1 (B) sin™! %
3 2
C in~1 = D in~1 =
(C) sin = (D) sin 5

(iv) The figure shows the path of a light ray through a triangular prism.
In this phenomenon, the angle 6 is given by : 1

OO

9
AN
ﬁ‘ n
N n \\
[n2

N

(A) sin™! (B) sin"!(n?-1)

(C) sin~! (D) sin~! 21
n?_1 (n“-1)
12-55/2/2 19 P.T.O.
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30. o« forfl O & <filacl =1 fonelt R gfaQier o =ietes @ gAifrd fopan Sam 2,
uftgy @ forga amr yanfea gt 8 | It 1 foga-srueea ot gwr % g # =
i wifd $© ity Tmar 3 | fIga-oT9eed g1 @Y U 39 Yfaly i 9 i
=R IFY (r) F8d & | 98 Tty fored-Tq9ey hl Yepld, ford-stdeey §
TFLIST o G §U &FRA a1 A9 W W AT 7 | STIies Iiig o R
I G ATYI Sl b1 S YT FCAT o €9 H Io¢ §l 1T 7 |
e A § HI3 g A8l A S @ ], d 3Hh Ql SAFIST & sid faHaT
&l T 1 f9.91. 9 (emf) () F&d 2 | TS ¥ G od THI q SAFIST o o1
favarr = efiae favar= (V) #ad 2 |
i)  HEEFT HH T

(A) B H IFERG Hd THT §-¢ qfEy § et oa1 & @ el &
s fawar=r (V), 8 @ f39.91. 9 (emf) (¢) & T¢d &7 AT & |
(B) fIeId-3Tuered &1 A9 e W A 1 AT Ifalie = 1 g |
C) VAV UM AT T V=e—Ir 2T 8 |
(D) A & T Al & s e (V) IR 398 vaifgd 9 () &+
= UT% T @1 BiaT 8 fSEeh! Jaurdt skoleHss gl @ |
(i) 20V 3R 60V fadan s (emh) It @ T, b Tailes gfaqer
HAE: 01 Q 3R 04 Q &, Id H FIAVG & | 39 IS I oA
a1, 9 (emf) B :
(A) 20V (B) 28V
(C) 60V (D) 80V
(i) Toeem 4 g qU soiagIe foRa-Taeed | STasl 1 HAGH-IGH Hd 2 |
A ¥ FOU (Igd-3uEd % AU OAHSe  TOHS ol fawd
V., (V4 > 0) 99T McHh SAFIS bl fava — (Vo) (V_ > 0) & J1aT & |
59 ¥ ° HIE 9/ G o o @ a7, qd
(A) e=Vo+V_>0 B) e=V,.-V_>0
(C) e=Vo+V_<0 D) e=Vo+V_=0
12-55/2/2 20
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30. When the terminals of a cell are connected to a conductor of resistance R,

an electric current flows through the circuit. The electrolyte of the cell

also offers some resistance in the path of the current, like the conductor.

This resistance offered by the electrolyte is called internal resistance of

the cell (r). It depends upon the nature of the electrolyte, the area of the

electrodes immersed in the electrolyte and the temperature. Due to

internal resistance, a part of the energy supplied by the cell is wasted in
the form of heat.

When no current is drawn from the cell, the potential difference between

the two electrodes in known as emf of the cell (¢). With a current drawn

from the cell, the potential difference between the two electrodes is

termed as terminal potential difference (V).

1)

(i1)

(i)

12-55/2/2

Choose the incorrect statement : 1

(A)  The potential difference (V) between the two terminals of a cell
in a closed circuit is always less than its emf (¢), during
discharge of the cell.

(B) The internal resistance of a cell decreases with the decrease in
temperature of the electrolyte.

(C)  When current is drawn from the cell then V = ¢ — Ir.

(D) The graph between potential difference between the two
terminals of the cell (V) and the current (I) through it is a
straight line with a negative slope.

Two cells of emfs 2:0 V and 6:0 V and internal resistances 0-1 Q and
0-4 Q respectively, are connected in parallel. The equivalent emf of the

combination will be : 1
A 20V B 28V
(C) 60V (D) 80V

Dipped in the solution, the electrode exchanges charges with the
electrolyte. The positive electrode develops a potential V., (V. > 0),
and the negative electrode develops a potential — (V_) (V_> 0), relative
to the electrolyte adjacent to it. When no current is drawn from the

cell then : 1
(A) e€=V.+V_>0 B) e=V,.-V_>0
(C) e=Vo+V_<0 D) e=Vo+V_=0
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(iv)

31. (=)
(@)
12-55/2/2

(=)

(1)

(i)

(ii)

1)

(i)

2 V fa.ar. sd (emf) 3R 0-1 Q Aaish YUY & g Fdgd
Al ol I19d H IS foram =T 2 | 39 93IH <l T 9:98 Q <
11 gfatiges 8 gaiferd foram mem g | gfatiaes 9 yariad 9m ®

(A) 005A (B) 01A
(C) 015A D) 02A
CREI

g uftgy # forelt O & i W fawer 6 VR | 2 A fom@
T o T I fa9aT= 4 V& Sl 2 | B &1 3Tdieh Ifal
2

(A) 10Q B 15Q

(C) 20Q (D) 25Q

Qs &

I o TEfE ST o SHdeRtor Ued 3T Uohed & o hRT foedd
Yed o &9 i o IR T |

Tefert safaeptor 9ed o Yot § dfigan faawor omw Eifem |

TUICEH )\ o TehdU[1F Tkl h1 ITINT i G I & Teieri T |
9e o o fomg W g~ A B, & SRt sl il K 0 2 |
9e o 8 fomg W g % B, &1 YT <hl dieidT 3Td shifoly |

AT

forell wgeh genaell g Tuse ge ol =qdad gl W Afdfers s
2 o foru amifena ferror s Eifguw | sueht Tade auar &
feTT SIeteh Scqd hifvg |

qﬁé@“@ﬁ(@?) 100cm3ﬁ'{50m®w@%aﬁﬁ@
iRt s 8 | 3w fourfa o goeht ermads eman s hifse fSad
aifom wfafers ota=q W ST B |
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(iv)

31. (a)
(b)
12-55/2/2

(a)

(b)

(1)

(i1)

(ii)

(1)

(i1)

Five identical cells, each of emf 2 V and internal resistance
0-1 Q are connected in parallel. This combination in turn is
connected to an external resistor of 9-98 Q. The current

flowing through the resistor is : 1
(A)  005A (B) O01A
(C) O015A (D) 02A

OR

Potential difference across a cell in the open circuit is 6 V. It
becomes 4 V when a current of 2 A is drawn from it. The

internal resistance of the cell is : 1
(A) 10 Q (B) 15 Q
C) 20Q (D) 25Q

SECTION E

Give any two differences between the interference pattern
obtained in Young’s double-slit experiment and a diffraction
pattern due to a single slit.

Draw an intensity distribution graph in case of a double-slit
interference pattern.

In Young’s double-slit experiment using monochromatic
light of wavelength A, the intensity of light at a point on the
screen, where path difference is A, is K units. Find the
intensity of light at a point on the screen where the path

difference is % ) 5

OR

Draw a labelled ray diagram of a compound microscope
showing image formation at least distance of distinct vision.
Derive an expression for its magnifying power.

A telescope consists of two lenses of focal length 100 cm and
5 cm. Find the magnifying power when the final image is
formed at infinity. 5
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32. (%) @)

(i)

@) @)

(i)

foga sl p % forelt @y foga & www, fage & @ss &
o1 § 3U% g B wgd AU g W e Rt fag T W,
fora fawa & fofu =Ieres g i |

forelt TmaTg BIYS & 2Nl W fowg 3TEw g, 2q 3R ng feod
g1 3l wm T & foufee oot 3@ 3, @ o & AW W@
HIT |

AT

feagfaehl 1 TeE faw fafe | 8 1 gy s
fopel wohEm™ STERRA 3= wHdS A1t W ke forell fag @
ﬁgﬁ&iﬁﬁ)maﬁﬁnl

g e WY qR 1 AR 2 M@ H WU IHER W TN § |
3 QFi A % Wgeh AW Ted HES: A = 10 pC/m 3R
Ao =-20 uC/m 2 | forg PR fe¥q forelt Sorargie g1 3fgwa fomar
S AT e g F g hifSTT |

30 cm

v
>

12-55/2/2
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32. (a) @) Obtain an expression for the electric potential due to a small
dipole of dipole moment 5), at a point ¥ from its centre, for

much larger distances compared to the size of the dipole.

(ii)  Three point charges q, 2q and nq are placed at the vertices
of an equilateral triangle. If the potential energy of the

system is zero, find the value of n. 5

OR

(b) @A) State Gauss’s Law in electrostatics. Apply this to obtain the
%
electric field E at a point near a uniformly charged infinite

plane sheet.

(ii)) Two long straight wires 1 and 2 are kept as shown in the
figure. The linear charge density of the two wires are

%
A1 = 10 pC/m and A9 = — 20 pC/m. Find the net force F

experienced by an electron held at point P. 5
10 cm T

pe-t

30 cm
51
~x 9 Ao
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33. ()
(@)
12-55/2/2

1)

(i)

1)

(i1)

IM@ H MU IFHR GIUE m 3R AN q T g HUT {ohelt
Wﬁéﬂﬁﬁﬁﬂ?ﬁﬂﬁﬂﬂ%lﬂ%mﬁq%a@w
FUSAHT I T T KA1 8 | T8 THR $Heh THGHAT ohl ST
ITH HINT |

9
B

%
v
—_—

v

forell BT WY § i3 SoiagH 2 A Brsen o forell e ©
8 x 1014 ufrur Ufd Hehvg ¥ TG T W & | W e
Hefla T ¥ Felg Iraehid ITEO] AT hig |

e

foreht Aeamnfier 1 g gonfear fore wed @ 2 quiisy fop fereft
eaanfier 1 g/ guifear § 3fg fore wepr i <1 wehdt 7 |
“feneft Treamrdier it g gfgar § afg g9 W 97 STevEs TE 3
for 3Th! Aieear guilear # o gig =1 |7 =me Hivy |

forelt =/ pusTl TioaAHIet 1 Jag 15 Q g a1 98 g S|

faeuur & foTT 20 mA 9/ ofar 2 | 39 TeaqHieX i (0 - 100 V)
URER & diecHiel # ford yehr gftafda foram ST genar 8 2
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33. (a) (@) A particle of mass m and charge q is moving with a velocity
— -

v in a magnetic field B as shown in the figure. Show that it

follows a helical path. Hence, obtain its frequency of

revolution.

_)
v
_—

%
B

v

(i1))  In a hydrogen atom, the electron moves in an orbit of radius
2 A making 8x104 revolutions per second. Find the magnetic

moment associated with the orbital motion of the electron. 5
OR

(b) @A) What is current sensitivity of a galvanometer ? Show how the
current sensitivity of a galvanometer may be increased.
“Increasing the current sensitivity of a galvanometer may not

necessarily increase its voltage sensitivity.” Explain.

(i1)) A moving coil galvanometer has a resistance 15 Q and takes
20 mA to produce full scale deflection. How can this

galvanometer be converted into a voltmeter of range 0 to
100V ? 5
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